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Question 6 MGthS SCOt ”

The fuel consumption of a group of cars is recorded.

The scattergraph shows the relationship between the fuel consumption,
F kilometres per litre, and the engine size, E litres, of the cars.
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A line of best fit has been drawn.

(a) Find the equation of the line of best fit in terms of /" and E.
Give the equation in its simplest form. 3

Amaar’s car has an engine size of 1-1 litres.

(b) Use your equation from part (a) to estimate how many kilometres per
litre he should expect to get. 1

Answers: (a) F=-3E + 18.5 or equivalent (b) 15.2 km/litre
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